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And they shall divide it — P

OVERVIEW

The mwn rules 21 in the case of IMX 272Ww. Seemingly this is a fair and
equitable ruling to settle this dispute. However, on the other hand it seems to be a
travesty of justice. Each of the litigants claims *>w 7912 and the other is a swindler.
By ruling y21%1° we are depriving the real owner from his property and rewarding a
swindler. Indeed the X nx challenges the ruling of our 7Iwn from other nyawn,
which seek different solutions for these types of disputes. There is, in addition to
the Nrawn, a XM from an XX which seemingly also contradicts the ruling of
our 7wn, yet the X1 does not mention this discrepancy. maoin will resolve this
contradiction and derive new guidelines in the ruling of }p1%m.

Moo asks
— 2NA9NT NN NIV INNT 1non

It is astounding! For why is the case of our 71wn different from that case of the
ship -
— (0w 3,75 47 xama x23) DYNAN NPIN P99 393 OYINT Y5 MNINT

Where the ruling in 290277 npt a2 is 923 2%K7 92?! Why do we not rule the same
here as well, that it should be 723 o*x7 93?!*

NID0IN answers:
— 8NN INTIA NIV YW THN U3 1IN 2PYNT 2INY PININT 5990 U

! The question may be compounded by the fact that the X3 fails to mention this obvious contradiction between the
ruling of an XMk and the ruling of our mwn. The X3 saw fit to mention the contradictory nrawn (on 2,2 and R,3); so
why not explain this contradiction as well.

2 The case there was that there were two people disputing the ownership of a ship; each one claiming that it was his
ship.

3 Literally; ‘whoever is stronger will overpower’. The party that can physically overpower his opponent and take
possession of the ship, he retains ownership. We assume that the real owner (and not the swindler) will put more
effort into retaining what is rightfully his, since he will be losing something if the swindler takes possession. The
swindler however, will not expend that much energy for something which is not his. Similarly if one party can bring
sufficient proof that he is the owner then he takes ownership.

4 It would seem from the expression X2IX7 X777 w"» (and from the subsequent answer) that the question was
(mainly) that by n*2v the ruling should also be 3"X73 (but not that by X2 we should rule 1%m). See ‘Overview’,
that the ruling of 2721 is (somewhat) troubling.

> Mmoo may be saying that the distinction between X317x and n°% is so obvious that it did not deserve mention in the
X See (footnote # 1 and) ‘Thinking it over’ # 1. Other commentators explain that the difference between X217
and n*9v is that by X237 there is a *n7 °X71 (as opposed to n°7v). However nooin may argue that this difference is not
so apparent and decisive to warrant a different 7597 of 123 2°287 92 as opposed to P2 and ([even] if it is true) the
X3 should have mentioned it. See footnote # 19.
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And one can say; that ‘holding’ (by the n°%v) is different (than the case of X2
where neither is holding the ship), for it is considered as if each one who is

holding the n*5v certainly® owns half of the "n% -
— ENIN NYTT NN DIINT INDT YN INT

For we the 7"2 testify that whatever this one is holding belongs to him.

In summation: The rule of % applies only when the litigants are in possession of the item;
otherwise we rule 123 0°7X7 2.

mMooIN anticipates a difficulty:
— 1155509 X920 207197 1Wrow 73 19

And similarly in the case of the third /71% which the X923 compares to the case

of our mwn regarding two people who are holding a n°»w. Seemingly how can the X723
compare the case of *ww m1n to the case of N¥Hv; by n*2v both parties are holding on to the n°%u
(therefore we say 12171°), however by *w°%w man neither of the litigants is holding anything (and
therefore we rule mam xi7).!2

mooin replies:
— 93 DOPININ DNYY 0N IIIND 12DNNY NPINA DN TPINY NIND 2PYUN

The fact that the custodian is holding the money in trust for both parties; that is
considered as if the parties themselves are in possession of the *w>>w mn -

% There is a general presumption that whatever is in a person’s possession is his. In our case, where they are both
holding the n°>v, we presume that each one [certainly] owns half.

7 Therefore, since it is considered as if each person owns half the n*v, we cannot rule 123 2°9X7 93, for we have no
right to forcefully take away from either party that which is rightfully his. As opposed to 27X where there is no
reason to assume that it belongs to either of them. By ruling 123 2°2%7 92 we are not (to our knowledge) depriving
anyone from their ownership.

8 See the X7ma later on X, (towards the bottom of the T1y)

% A mn is a hundred (2°17) o™

19 The case of *w>w 711 is when two people deposited money (in the presence of each other) by a third party. One
deposited one 11 and the other two 7111, When they came to retrieve their deposit each one claimed that he deposited
two 73. The 0°non rule that we give each of the parties a 71 (which is rightfully due to them), and the third 71n (the
*WoW mIn) remains in the custody of 7" until (%°237) ¥°2X% will come and tell us to whom it belongs. *01 '3 argues
and maintains that in order to induce the swindler to admit, we deposit all three 711 by 17°2R X2°w 79 7"2 (or until
one of them admits that he is entitled to only a 71n).

" The x»3 later on R,3 suggests that our mwn does not coincide with the view of *01° ' (or even the 1127) regarding
*wow 7, for "0 " maintains that in the case of w5 7 we say that all the money should be 17°9% X2°w 7v nan
(and the 1121 rule that we say nnn &7 for the third 71n) and our mwn rules om.

12 We cannot rule 723 2987 73 by "w5w 1, because (unlike the 837X), here the custodian is holding the three 71
(for their respective owners). If we would rule 723 2°987 95, we may be taking away the *w°%w mn from its rightful
owner. However by 827X no one is holding anything.

13 mpoin is teaching us a novelty; the custodian is not holding the *w*w 7w for the rightful owner, but rather (in his
mind) he is holding all three 7 for both. The individuals gave him the money in the presence of each other,
indicating that the two parties are considered as one, and he is holding three 71 for the two of them as one unit.
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— 16891 911993910 TNT N DNNT 2IWN 15995

Therefore the X3 answers that there by the >w%w 7, this nin certainly

belongs to (only) one of them!” -
— AN RN 729 HNR HPNY N9 HPTND PN

And therefore dividing it cannot possibly be truthful and therefore it must

remain in the custody of 73, until 177°9% X2°W.
— PN 1ERIN 199957 919919 NIINT POV DAN

However in the case of n°>va PR 0% where it is possible to assume that it
belongs to both of them, the ruling is ypY?r.

moon further clarifies the concept of NuR 1A% 7912 APPnn:

- DY DYPITN DIV 19
And similarly in the case where two people (the m%n and the M%) were grasping
the "W (where the Mm% claims it is my 7w [that I lost and subsequently found] and the m>

owes me the entire loan, and the Mm% claims it is my W [which I lost and subsequently found]

for I repaid the entire loan),
— PIINNY (3,197 AP INDTMIT

which the X973 later compares® the case of 70w to the case?® of our mawn -

14 Therefore the X3 argued that according to the logic of our 7wn that when both litigants are in possession of the
item, the rule is Y272, then by *w>w mn, since (as MO argues now) they are both in possession of the *w>Hw min,
we should also rule 171, What is the difference between our mwn» and *w 7w 711, See ‘Thinking it over’ # 2.

15 mpo1n may be alluding with the word 757 to what he maintained previously that the difference between ®37x and
v is that by n°ov they are both 1°p1nn (as opposed to X27K), but not that by X2 there is a *Xi1 °X7 (and not by
noov); for "1 X7 is not a sufficient reason not to say 1217m°. Therefore the X3 did not [initially] answer (according
to the 7127) that *w°%w nin is different since there is a *R7 °X7) (as the X3 subsequently answered according to "
>01°), but rather that niaX N1A% 7212 APPNR PR.

16 mooin gives the answer which the X3 uses to explain why there is no discrepancy between the 13127 of >w7w
and our mwn. The X3 there later explains that according to "0 " there is also no discrepancy since by *w*bw nn
there is a *Xn7 °X71 and in our mwn there is no *X»7 *X7. However maoin chooses to ignore this answer, indicating
that n1dOIN assumes that (72977) there is a difference whether naR N 3713° pna (where we say 17m°) and X
Nk R 3912 apona (where we do not say p12°). There is no difference however whether or not there is "8 (in a
case where N N2 7215 7P1200); in all cases we say P12, See °K 13"7 2,2 MooIN and npna AT R,2°"wA.

17 All the parties agree that only one gave two 711 and the other one mn. If we were to rule 17, then 7"*2 would be
fraudulently taking away half-a-n1n from its rightful owner and granting it to a thief.

18 Tt is possible that they picked it up (or bought it) together and it belongs to both of them [or that one sold (or
gifted) half the item to the other]. It is possible to have a >X»7 *X71 and NnR NP2 7919° 7907, as in the following case
of Mvwa o°p1IR Do

19 mooIn is anticipating that one may argue how can we say in the case of a qow that nax N2 A1 ApYons, if the mb
and the 7791 completely contradict each other. According to the 7w 0" and others Maon wants to prove that we
rule 191 even by a *Xn7 °XT1 as the case is by 0w. (See footnote # 5.)

20 The X3 there maintains that by 90w the 77 should be 51 (that the M should pay the m>» half the loan).
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moon explains that the reason the X713 compares VW to our Mwn is -
— 8NN 1Y Y9V TVANRT NNN MNY NP1 NPIYHNT IA DIPITN DNNIYT DIVN

Because there by 70w they are both grasping it (as in our 71wn), therefore we can
compare it to N°7v since there too the division can be true for it is possible that
the m?% paid half to the mn.

mooin anticipates the following question. If by 70w we consider it to be a naX NAR 77120 AP
for it is possible that the MY paid half (disregarding what the m> and m%» are claiming), then by
WOw 1 it is (seemingly) also possible that the owner of the *w>5w nan gifted his partner half of
the third 71»; thus making *w 2w 7 also a case of nNR N1AY 7713° 771700, why does the X state
that by "W 7n it is X7 70 777 X7 and R DR 79120 PN PR?!

mooIn responds:
— 2199530 752 NINY SINN 8NN 1Y NIPIY 797 PPN NN

And by the case of *w*5w ;122 there is no way in which he could transfer half of
the 1711 to the other depositor since it is in the possession of the custodian.

MooIN anticipates a question; if we assume that n»R N9 7912 YN is a reason for 12, then
by X27X let us also rule 121 since there too NR N1AY 77120 AN,
— DAY YV NINY TWONT 23 Y¥ AN NIINA YaN

However by a ship, even though that it is possible that the ship belongs to both

of them, nevertheless we do not rule y5m, for -
—93) DYYNT Y5 NI NI PPN PPNRT 1

Since the two litigants are not in possession of the ship, the ruling is 287 %3
=23. There is no compelling reason to say 212 since they are not o> prn.

Is summation: we rule Y272r only if 1P 2w and DR NPAY 7910 AR
— DNNR NAY N9 DTN PN I PPININ PRT 2) YY N 2 ©191390Y

And according to 915210 even though the litigants are not in possession of the

disputed item and the division cannot possibly be valid, nevertheless -
$99I9N9 2477 1129 POV W DIMIPY XYY W ZXMINT NIIT NIINT XD

2l He cannot grant it to him by giving it to him since it is not in his possession and he also cannot grant it to him
through 1°9°°17 1Ip since 1°9°%12 N°Ip1 vawn 1X. See 7"nR # 178.

22 p1omo maintains 1191 in the following two cases (while the 251 maintain X7 179y 17°anm X°X117): Where an ox
gored a cow and an aborted fetus was found next to the cow and we are uncertain whether it was aborted before the
goring (releasing the ox’s owner from any liability for the fetus), or whether it aborted after (and because of the)
goring. Similarly if two people traded their respective donkey and pregnant cow with each other, and in the duration
the cow gave birth and we are unsure whether the calf was born before the transaction took place or afterwards. In
both these cases there is no PR 221w and AR NPIR 7212° APYNN PR (the ox’s owner either owes the money entirely
or he does not owe it all, and similarly with 2vana 719 77017, the calf belongs to only one of them), and nevertheless
010m0 maintains 171>, This seems to contradict N190IN assumption.
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Wherever there is a N1»»7 X997, which means that 7''52 is in doubt even
without the claims of the litigants, in such a case 019110 maintains Y91,

SUMMARY
We only rule y12m if o°prmn omow and nak N a1 ap1onn (except for 010mI0
who always rules 12791 when there is a R11727 X777).

THINKING IT OVER
1. mpoin distinguishes n9v from X217 that by n"9v they are . Seemingly this 2>PrmxR
distinction is obvious; what was the 72°n of N190n initially?!%°

2. When the X3 initially compared the case of *w*%w [ to nov (before we
answered that we rule %1 only when naR nvab a9 aponn),?’ are we to
understand that the two cases are entirely similar in their status of 11, or that
the prmn status of n*»w differs from the P status of W Hw 7.8

3. Why is there a difference according to m>110 between X117 X177 (when we say
PP even if NR N1AY 7910 AP9n0 1R) and X7 X107 82D (wWhere we say Yo
only by naR n1aL 79127 aponm ovprmn) 2%

23 However when there is no X117 X177 (as in the cases of >w>»w 71n ,n°%v and X27K), there 019210 too will agree that
we say 171 only if they are 1p1min and NaR N7 3212° AP, See ‘Thinking it over” # 3.

24 In the cases of 77977 PR MW M and 7mn2 7379 7°5nan the doubt arises not on account of their claims (as is the case
by 70w ,X27R N7, etc.) but rather by the circumstances. The doubt is there even if both parties claim ignorance as
to what occurred. According to D19210 such an intrinsic doubt creates a }17m.

25 See footnote # 5.

26 See n"nx # 143.

%7 See footnote # 14.

28 See n"n1 and 19X 7721 NI "D

2 See n"nx #214.
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